

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO SLG 2637X

	REPLACEMENT OF PARTS			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	FRONT BUMPER	DEFORMED	\$878.50	\$545.00
1	FRONT BUMPER LOWER LIP	DEFORMED	\$355.00	\$355.00
1	FRONT BUMPER FOGLAMP LH	NOT NECESSARY	\$327.70	\$0.00
1	FRONT BUMPER FOGLAMP COVER LH	NOT NECESSARY	\$69.00	\$0.00
1	FRONT BUMPER LOWER GRILLE	CRACKED	\$150.00	\$150.00
2	FRONT BUMPER SIDE RETAINER @\$23.00	NOT NECESSARY	\$46.00	\$0.00
1	FRONT BUMPER REINFORCEMENT	DENTED	\$321.00	\$321.00
1	FRONT CENTER GRILLE	CRACKED	\$321.00	\$321.00
1	FRONT CENTER GRILLE LOGO	NOT NECESSARY	\$321.00	\$0.00
1	FRONT CENTER GRILLE COVER GARNISH	NOT NECESSARY	\$321.00	\$0.00
1	FRONT SUPPORT PANEL	DISTORTED	\$576.40	\$576.40
1	RADIATOR	DISTORTED	\$1,376.40	\$1,376.40
2	RADIATOR SIDE GARNISH @\$46.60	NOT NECESSARY	\$93.20	\$0.00
4	RADIATOR RUBBER MOUTING @\$39.40	NECESSARY	\$157.60	\$157.60
1	RADIATOR TOP HOSE	NOT NECESSARY	\$39.20	\$0.00
1	RADIATOR FAN MOTOR	NOT NECESSARY	\$298.40	\$0.00
1	RADIATOR FAN COWLING	CRACKED	\$129.40	\$129.40
1	RADIATOR FAN BLADE	NOT NECESSARY	\$67.40	\$0.00
2	RADIATOR BRACKET @\$42.30	NOT NECESSARY	\$84.60	\$0.00
1	AIR CON CONDENSER	DISTORTED	\$750.80	\$750.80
4	AIR CON CONDENSER MOUNTING RUBBER @\$39.20	NECESSARY	\$156.80	\$156.80
2	AIR CON CONDENSER BRACKET @\$42.80	NOT NECESSARY	\$85.60	\$0.00
1	AIR CON FAN BLADE	NOT NECESSARY	\$72.10	\$0.00
1	AIR CON FAN MOTOR	NOT NECESSARY	\$321.40	\$0.00
1	AIR CON FAN COWLING	CRACKED	\$134.20	\$134.20
1	AIR CLEANER RESONATOR	NOT NECESSARY	\$180.90	\$0.00
1	SET ENGINE MOUNTING	NOT NECESSARY	\$892.40	\$0.00
1	AUTO TRANMISSION ASSY	NOT NECESSARY	\$8,653.40	\$0.00
1	GEAR BOX MOUNTING	NOT NECESSARY	\$335.20	\$0.00
1	ENGINE UNDER CENTER COVER	TORN	\$96.80	\$96.80



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

	REPLACEMEN	T OF PARTS		
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
2	ENGINE UNDER SIDE COVER @\$65.20	NOT NECESSARY	\$130.40	\$0.00
2	HEADLAMP @\$1,152.30	N/S CRACKED	\$2,304.60	\$1,152.30
2	HEADLAMP LOWER BRACKET @\$52.00	NOT NECESSARY	\$104.00	\$0.00
2	HEADLAMP SIDE BRACKET @\$19.60	NOT NECESSARY	\$39.20	\$0.00
1	FRONT FENDER LH	DENTED	\$748.80	\$580.00
1	FRONT FENDER INNER GARNISH LH	NOT NECESSARY	\$85.00	\$0.00
1	FRONT FENDER ARCD GARNISH LH	CUT	\$195.00	\$195.00
2	FRONT FENDER INNER COWLING	NOT NECESSARY	\$170.50	\$0.00
1	FRONT ABS SENSOR LH	NOT NECESSARY	\$295.00	\$0.00
1	FRONT CROSSMEMBER	DENTED	\$1,365.00	\$1,365.00
1	FRONT DRIVE SHAFT LH	NOT NECESSARY	\$1,365.00	\$0.00
1	FRONT STEERING RACK & PINION	BENT	\$1,750.00	\$1,750.00
1	FRONT SHOCK ABSORBER LH	BENT	\$586.50	\$586.50
1	FRONT LOWER ARM LH	BENT	\$474.70	\$474.70
1	FRONT KNUCKLE ARM LH	DAMAGED	\$461.70	\$461.70
1	FRONT KNUCKLE ARM INNER BEARING LH	DAMAGED	\$262.00	\$262.00
1	FRONT WHEEL HUP LH	DAMAGED	\$379.40	\$379.40
1	FRONT LINKAGE LH	NOT NECESSARY	\$65.00	\$0.00
1	FRONT DOOR PILLAR OUTER LH	NOT NECESSARY	\$986.20	\$0.00
1	FRONT DOOR LH	DENTED	\$950.00	\$950.00
1	FRONT DOOR OUTER MOULDING LH	NOT NECESSARY	\$87.00	\$0.00
2	FRONT DOOR HINGE LH @\$55.00	NOT NECESSARY	\$110.00	\$0.00
1	FRONT DOOR WEATHER STRIP LH	NOT NECESSARY	\$127.00	\$0.00
1	FRONT DOOR GLASS CHANNEL LH	NOT NECESSARY	\$106.00	\$0.00
1	FRONT DOOR INNER LOCK LH	NOT NECESSARY	\$262.00	\$0.00
1	FRONT DOOR LOCK CATCH LH	NOT NECESSARY	\$27.00	\$0.00
1	FRONT DOOR INNER TRIM BOARD LH	CRACKED	\$650.00	\$450.00
1	FRONT DOOR REGULATOR LH	DAMAGED	\$215.00	\$215.00
1	FRONT DOOR POWER WINDOW MOTOR LH	NOT NECESSARY	\$400.00	\$0.00
1	FRONT DOOR FRAME WEATHER STRIP LH	NOT NECESSARY	\$135.00	\$0.00
1	FRONT DOOR SPEAKER LH	NOT NECESSARY	\$165.00	\$0.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

	REPLACEMENT OF PARTS			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	FRONT DOOR BOTTOM RUBBER LH	NOT NECESSARY	\$68.40	\$0.00
1	FRONT DOOR BLACK STICKER LH	NECESSARY	\$95.00	\$95.00
1	SIDE SKIRT LH	DEFORMED	\$650.00	\$650.00
1	ROCKER PANEL LH (OUTER)	TO REPAIR SEE LABOUR	\$678.00	\$0.00
1	CENTER PILLAR (OUTER) LH	TO REPAIR SEE LABOUR	\$975.00	\$0.00
1	REAR DOOR LH	DENTED	\$1,135.00	\$980.00
1	REAR DOOR SPEAKER LH	NOT NECESSARY	\$190.00	\$0.00
1	REAR DOOR CHECKER LH	NOT NECESSARY	\$125.00	\$0.00
2	REAR DOOR HINGE LH @\$55.00	NOT NECESSARY	\$110.00	\$0.00
1	REAR DOOR INNER LOCK LH	NOT NECESSARY	\$285.00	\$0.00
1	REAR DOOR LOCK CATCHER LH	NOT NECESSARY	\$25.00	\$0.00
1	REAR DOOR INNER TRIM LH	CRACKED	\$725.00	\$468.00
1	REAR DOOR WEATHER STRIP LH	NOT NECESSARY	\$145.00	\$0.00
1	REAR DOOR POWER WINDOW MOTOR C/W REGULATOR LH	NOT NECESSARY	\$490.00	\$0.00
1	REAR DOOR FRONT RUBBER LH	NOT NECESSARY	\$210.00	\$0.00
1	REAR DOOR OUTER STRIP LH	NOT NECESSARY	\$110.00	\$0.00
1	REAR DOOR BOTTOM RUBBER LH	NOT NECESSARY	\$68.40	\$0.00
1	REAR DOOR FRAME WEATHER STRIP LH	NOT NECESSARY	\$170.00	\$0.00
1	REAR FENDER LH	TO REPAIR SEE LABOUR	\$1,120.00	\$0.00
1	REAR FENDER COWLING LH	NOT NECESSARY	\$150.20	\$0.00
1	REAR FENDER ARCED GARNISH L	CUT	\$184.70	\$184.70
1	REAR AXLE	NOT NECESSARY	\$1,670.00	\$0.00
1	REAR SHOCK ABSORBER LH	NOT NECESSARY	\$398.00	\$0.00
1	REAR WHEEL HUP COME WITH BEARING LH	NOT NECESSARY	\$435.00	\$0.00
1	REAR WHEEL SPEED SENSOR LH	NOT NECESSARY	\$285.00	\$0.00
	LESS 20.00% DISCOUNT		(\$8,622.42)	(\$3,253.94)
			\$34,489.68	\$13,015.76

	Special Nett			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	FRONT WHEEL RIM LH (SN)	CUT	\$1,160.00	\$480.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

	Special Nett			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	REAR DOOR STICKER (BLACK) LH (SN)	NECESSARY	\$84.00	\$60.00
1	REAR WHEEL RIM LH (SN)	CUT	\$1,160.00	\$480.00
1	SET FRONT BUMPER CLIP (SN)	NECESSARY	\$60.00	\$30.00
1	SET FRONT BUMPER LOWER GARNISH CLIP (SN)	NECESSARY	\$60.00	\$30.00
1	SET FRONT WIPER PANEL GARNISH CLIP (SN)	NOT NECESSARY	\$30.00	\$0.00
1	SET FRONT SUPPORT PANEL TOP GARNISH CLIP (SN)	NOT NECESSARY	\$30.00	\$0.00
1	SET FRONT FENDER INNER GARNISH CLIP LH (SN)	NOT NECESSARY	\$50.00	\$0.00
1	SET FRONT FENDER ARCED GARNISH CLIP LH (SN)	NECESSARY	\$50.00	\$20.00
1	SET FRONT FENDER INNER COWLING CLIP LH (SN)	NOT NECESSARY	\$50.00	\$0.00
1	SIDE SKIRT CLIP LH (SN)	NECESSARY	\$80.00	\$30.00
1	SET FRONT DOOR TRIM BOARD CLIP (SN)	NECESSARY	\$80.00	\$30.00
1	CENTER PILLAR (OUTER / INNER) LH SEALANT (SN)	NOT NECESSARY	\$150.00	\$0.00
1	SET CENTER PILLAR INNER TRIM CLIP (SN)	NOT NECESSARY	\$50.00	\$0.00
1	SET REAR BUMPER CLIPS (SN)	NOT NECESSARY	\$80.00	\$0.00
1	SET TAIL LAMP CLIP (SN)	NOT NECESSARY	\$60.00	\$0.00
1	SET REAR DOOR INNER TRIM CLIP RH (SN)	NECESSARY	\$80.00	\$30.00
1	REAR FENDER SEALANT LH (SN)	NOT NECESSARY	\$150.00	\$0.00
1	SET REAR FENDER INNER TRIM CLIP (SN)	NOT NECESSARY	\$60.00	\$0.00
1	SET REAR FENDER COWLING CLIP (SN)	NOT NECESSARY	\$80.00	\$0.00
1	SET REAR FENDER ARCED GARNISH CLIP LH (SN)	NECESSARY	\$80.00	\$20.00
2	REAR WHEEL TYRE LH @\$450.00 (SN)	NOT NECESSARY	\$900.00	\$0.00
1	COOLANT (SN)	NECESSARY	\$120.00	\$60.00
1	AUTO TRANSMISSION FLUID (SN)	NOT NECESSARY	\$250.00	\$0.00
1	BRAKE OIL (SN)	NOT NECESSARY	\$80.00	\$0.00
			\$5,034.00	\$1,270.00

Labour			
Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
PANEL BEATING, REMOVING AND REPLACING PARTS. INCLUSIVE OF THE REPAIR OF ROCKER PANEL LH (OUTER), CENTER PILLAR (OUTER) LH AND REAR FENDER LH		\$2,000.00	\$1,300.00
SPRAY PAINTING TO AFFECTED AREA		\$1,800.00	\$1,500.00
TUFF COAT		\$250.00	\$80.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

T		1
Condition	Workshop Estimate (\$)	Our Adjusted
	\$120.00	\$30.
	\$350.00	\$80
NOT NECESSARY	\$550.00	\$0
	\$1,200.00	\$220
	\$350.00	\$150
	\$120.00	\$80
NOT NECESSARY	\$120.00	\$0
	\$80.00	\$40
	\$60.00	\$40
NOT NECESSARY	\$80.00	\$0
	\$80.00	\$40
	\$60.00	\$40
NOT NECESSARY	\$350.00	\$0
NOT NECESSARY	\$280.00	\$0
	\$7,850.00	\$3,600
	\$47,373.68	\$17,885.
		\$14,300.
	NOT NECESSARY NOT NECESSARY NOT NECESSARY	\$120.00 \$350.00 NOT NECESSARY \$550.00 \$1,200.00 \$350.00 \$120.00 NOT NECESSARY \$120.00 NOT NECESSARY \$80.00 \$60.00 NOT NECESSARY \$350.00 NOT NECESSARY \$350.00 NOT NECESSARY \$350.00 \$7,850.00

TOTAL FOR SPARE PARTS: \$39,523.68 \$14,285.76
TOTAL FOR LABOUR: \$7,850.00 \$3,600.00
TOTAL REPAIR COST: \$47,373.68 \$17,885.76

LWP

ADRIAN LING WAI PING

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of reposibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.